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The figures in the margin indicate full marks
for the questions

1. Answer any ten from the following as
directed : 1x10=10

oS FAR] R @I Wb et Teq fia

(a) Mention one assumption of Harrod-
Domar growth model.

@EUT-TR e WIfEe 95l SfeqEar TeEy
40 |

(p) Name one neo-classical growth model.

T-eEre Rt =13 «bE 7 for |
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(@

(e)

(9)

(h)

(i)

(2)

What is me
ant b .
progress? Yy  technological

Defi
In€ average propensity to consume
TS (19 2-ToR 5w faay | |

Who  introduced the
hypothesis? ‘

-0 D A TSR e 9

Mentton one assum
Income hypothesis,

?ﬁwmqﬁaﬁ;m‘”ww'

Rationa] e
Xpectation .
Robert Hall/ Friedmgmmm“31 is related to

Iife—cycle

Ption of permanent

( Ch
0ose the correct answer )

Tewsrs
ooy SR W 2 B s

(0 S5 31 e )

What ig investmenﬁ’

ez 3 9

1 R S
at is Ilql.udity Prefere
nce?

R RS R 9
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—

(3)

What is meant by fiscal policy?
TR s 3 & 3em 2
(k) What is Ricardian equivalence?

frfy el 2

What is meant by active monetary

0)

U
policy?

e T Sfecs & o2

(m) Who are the classicists?
SElPrefeiee (I (I ?

(n) Did Keynes believe in full employment
equilibrium?

@ﬁmﬁﬁmﬂwm@@ﬁmﬁ%tﬂ?

(o) Name one new Keynesian economist.

e TR @0 SRR A A

2. Answer any five from the following

questions :

< AT R e <o T i :

(a) What is the golden rule?
e et 2

( Turn Over )

20A/1120

2x5=10




(b)

(c)

(d)

(e)

(g)

(b

22A/1120

()

What is meant by endogenous growth?

Mention two  differ -
ences  bhetw
Harrod-Domar mode] and Solow modeefn

@%‘G’W Wﬁ HE 5l
ML SCEY 4 | s s &l

Wh i
Y marginal Propensity tq co
cannot be greater than onep e

afes o o
Sio|
TRICR 2 e @R xe

What is random walk
€xpenditure?

COI I TR 31y s

of Consumption

Mention
two feat
Macroeconomja thouugI:tS of classica]
MBS
R S 51 vy
9

3. Answer any four from the following

(S)

5x4=20

questions :

©Fq RS R e wifktR T i

(a) What are the two effects of investment

(b)

()

(d)

according to Harrod-Domar model?

Explain.
@5 Wi S R o ger
& 2 <m0

Explain Keynes’ psychological law of

consumption.

@R (SR TG Ul RN |

Explain the elements of endogenous

growth.
wEie REr[E SMIPR 0 41 |

What are the limitations of Harrod-

Domar model? Explain.

T-TR WZT NARmertz & &2 aem

41 |
(e) Explain the concept of inventory
investment.
g RFCESR 4—ECS! =0 394 |
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4.
Answer any four from  the

L e ™ 407

(6)

) EXplain the ti
€ time consi
monetary policy. sistency problem of

0 ST S-S TS e e
|

{g) F)lstinguish between exte
Internal government debt B e

MR W SR
frefe < | y IR e A1efey

g t'

RO
I 111 WWWWW

questions : .
S AR R I 0RER T oy - T
(@) Critically discuss the Solow

mode] of

economic growth

(b) Discuss Fishepg

(c)

(@)

(e)

(g9 What are

(h) Discuss the objectives O

(7))

Discuss the Keynesian consumption

function.

3R (151 FCoT e 40 |

Critically  discuss the life-cycle
hypothesis.

ﬁ@-ﬁ@mwwqﬁw
40 |

me hypothesis an

Is permanent inco
cycle hypothesis?

improvement over life-
Discuss.

2@ T SEEE SEA-OF SIS OO
@ 7 S T4 |

Discuss the determinants of business

fixed investment.

| W@ﬁﬁmﬂﬁWWWt

the motives of demand for

money according to Keynes? Discuss.
@pd oo @ B wfamemz @ 2
=g 91

f monetary

ﬁ?ﬁﬁﬁ J
SRR
91 TR™S Sges ST policy.
22A/1120 1 A SEPTRR ST 91|
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( 8)

() Discuss the main features of Keynesian
thought.

CFPH SR 37 Gz e 1 |

() Discuss the key elements of the new
Keynesian fixed price model of macro-
economic equilibrium.

TR SRR Ty @EPE B
WW%WWW|
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